EER ) I2EERRAEER o & 544 S00M =5 24

e ¥ w e 0 e
r = 7k I 3.32.24 - ¢
z = R i 3.32.71 - %
z = = oh 43 3.36. 44 = %z
z = T 548 3.38. 15 %
z = I F* 3.39. 60 1 %
\7: z AEY | 3.46.76 | %> &

EER) 28 2R RAEER o 257 4 800M = 4§ 24

P 51 2 & 4 2 % o
» Fi $ie | 3.10.14 | ¥- ¢
v Fi S ke | 3.11.85 | ®- %
® - gre | 3.14.80 | %= %
x = Ztk | 3.17.55 | ®w &
x - EmE | 3.26.55 | %1 ¢
® Ei PHI | 3.27.20 | %= ¢




EFR V2B ERRAEER €T & 5542 00M = 4§ =4

F T A &g 7 % #2r
7 - wEH | 3.20.21 | ¥- ¢
Ey I iR 3. 35. 62 - %
ki G + &% | 3.37.01 = %z
Ey = ;s | 3.39.12 %
Ey 7 ZMh | 3.41.55 »1 %
7 = Aewsy | 3,43.49 | ¥ %

EER ) I2F 2R RAERET 57 4 00M = 5 24

E: FI A =R 2 % % i
Es w Pt | 2.58.26 | ¥- %
ki = B Rz | 2.58.78 - %
7 iy Hf F 3.13. 89 = ¢
ki I Bz 3.23. 63 Y
7 7 HEr | 3.24.23 | %It
Ei b ERE | 3.24.54 | ¥ %




EERE) 1128 ERRAER €~ #5%2 S00M >4

~+

2,
F T A &g 7 = #er
> = grs | 3.09.56 | %- %

* T Td | 3.15.84 | ¥ %
2 > m+m | 3.16.63 | %= %
2 - P | 3.17.48 Y 7
2 - T &% | 3.23.718 | %1 %
B b P rah | 3.25.28 | 5= %

EHER 125 2R RAEER €2 25T 2 800M = 5 22
& FI w2 & 7 % 2
» - 24 | 2.48.92 | H- %

. E #r A | 3.01.65 | ¥- ¢
2 = wivgk | 3.03.77 | %= &
> = f e | 3.10.63 | Fw %
2 - 3 % 3.15.86 %1 ¢
2 E EF R | 3.19.68 | # &




